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— 9912 NN NNSR M9IBAT 91 92T
And 2"'7799 derived it from nIns=2 n93, etc.

Overview

The &73 says that 2" derives this rule (that we require a 712°27 11°2 171377 727), from
mn>1> n73,! and the 1321 do not expound such a Awa7T of MN*1> N3, Our MOOIN
reconciles our X3 with a seemingly contradictory X ma.

nvoINn asks:
- 209591y 2 ATYIN 5297 1939 IY MNP (3,30 1np) YINID 79937 0N 139399 DY

The 0" has a difficulty for in w9277 P95, the X711 states regarding the 3229 who

disagree with ¥''aR- -
= ONNT 4929 HH52 NN DDA N YD 129) YT XY MmN NYOT

That they do not expound the w77 of M35 93, and 2"'7°9 is included in those
1331 over there; so how can we say here that 3"777 expounds nmin15 n73?!

NID0IN answers:
$995 YW XY 913917 593 KDY SONNT NYAT NONND TN N9 SWHT RDT 919D v

And one can say that the ¥"2X77 1127 do not expound nin>a> n9> for that we7
there, but the X713 did not mean to say that they do not expound it at all.

Summary
There are different ways how to expound nin>1> nAo.

Thinking it over
When the X3 in w7 asked, 7°% >72v °Ri NN °R7 1327, it was not asking on 2"77°)

Tt could have said n73 and it says min>73 for this 7wA7 (see N19n 7"7 °"wA). He derives from nin*13 n13 two nw7; that
N7 AR 727 PRI 0710 90, and 73°27 13°2 N9 D27,
2 In the mwn there (X,29) there is a dispute between the 2721 and (913717 12) TY7X ', where X" maintains that if one
divorces his wife saying o7& 937 n7nm NR ™77 except for one person that it is a proper v3. The X713 on &30 states that
four o177 refuted the view of X"9; among them (our) 3"77 and ¥"axkn. The refutation of ¥"ak1 was from the word
(w"»y) mn 2. The &3 there commented that the other three 2°1p7 did not refute 8" from Mn>> (as did ¥"aR7) because
they require Mn13 to teach the rule of 121 N71577 727 (as the 813 state here). However ¥"ak" expounds nin®1> 015 and
derives both rules. The X3 concluded that the other three a°3p1 (including 3"7"7) do not expound nn>13 n15. However
here our X723 states clearly that 377 utilizes i3 n9>!
3 The 7221 there agree with the 1321 here that >w17 X2 mn > no.
4 See ‘Thinking it over’
3> They do not expound it to teach us that *11997 89X 27X 2% NN NX *77 is invalid, rather 3"77 expounds it to teach us
that 70712 IR 927 X (and 71°2% 102 1797 127).

1

TosfosInEnglish.com



271 7"7 'O 2,82 Pwa L7"'02

for he uses it for N712 KR 127 XY, so the whole discussion there was concerning
the other two 0°1p1, not 3"71™,° so what is M9o1n question?!’

6 See footnote # 4.
7 See 2Py NXRON.
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